

Quote

Utility Associates Inc 250 East Ponce De Leon Avenue Suite 700 Decatur GA 30030 (800) 597-4707 www.utility.com

Bill To

yrodriguez@ci.laredo.tx.us 4712 Maher Ave Laredo TX 78041 United States Ship To

Laredo TX Police 4712 Maher Ave. Laredo TX 78041 United States Customer Date Sales Quote# Expires Sales Rep PO# Terms Laredo TX Police 12/19/2024 134949 3/31/2025 Dahlia Blake

Net 30

Item	Description	Quantity	Price Each	Amount
ICV-S-1	ROCKET In-Car Video Saas - The coverage period	5	\$2,918.00	\$14,590.00
107-5-1	is 1/1/2025 through 12/31/2025 (12 mos.)	3	, ,,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
	*Laredo PO# 272213			
	/ Invoice# 21204 / SO#8943			
	See Amendment Table Line A for devices covered			
EOS-S-1	EOS Intelligent Body Camera SaaS - The coverage period is 1/1/2025 through 12/31/2025 (12 mos.)	5	\$1,475.00	\$7,375.00
	*Laredo PO# 272213			
	/ Invoice# 21204 / SO#8943			
	See Amendment Table Line B for devices covered			
ICV-S-1	ROCKET In-Car Video Saas - The coverage period	36	\$2,918.00	\$105,048.00
	is 1/1/2025 through 12/31/2025 (12 mos.)			
	*ILaredo PO# 273892			
	/ Invoice# 21948 / SO# 9115			
	See Amendment Table Line C for devices covered			



lity Associates Inc.

Utility Associates Inc 250 East Ponce De Leon Avenue Suite 700 Decatur GA 30030 (800) 597-4707 www.utility.com

Bill To

yrodriguez@ci.laredo.tx.us 4712 Maher Ave Laredo TX 78041 United States **Ship To**

Laredo TX Police 4712 Maher Ave. Laredo TX 78041 United States Customer Date Sales Quote# Expires Sales Rep PO# Terms

Quote

Laredo TX Police 12/19/2024 134949 3/31/2025 Dahlia Blake

Net 30

Item	Description	Quantity	Price Each	Amount
EOS-S-1	EOS Intelligent Body Camera SaaS - The coverage period is 1/1/2025 through 12/31/2025 (12 mos.)	27	\$1,475.00	\$39,825.00
	*Laredo PO# 273892			
	/ Invoice# 21948 / SO# 9115			
	See Amendment Table Line D for devices covered			
ICV-S-1	ROCKET In-Car Video Saas - The coverage period is 1/1/2025 through 12/31/2025 (12 mos.)	3	\$2,918.00	\$8,754.00
	*Laredo PO# 288881			
	/ Invoice# 23306 / SO# 11027			
	See Amendment Table Line E for devices covered			
ICV-S-1	ROCKET In-Car Video Saas - The coverage period	2	\$2,918.00	\$5,836.00
	is 1/1/2025 through 12/31/2025 (12 mos.)			
	*Laredo PO# 294061			
	/ Invoice# 23517 / SO# 11551			
	See Amendment Table Line G for devices covered			



Utility Associates Inc 250 East Ponce De Leon Avenue Suite 700 Decatur GA 30030 (800) 597-4707 www.utility.com

Bill To

yrodriguez@ci.laredo.tx.us 4712 Maher Ave Laredo TX 78041 United States

Quote

Customer Date Sales Quote# Expires Sales Rep PO# Terms Laredo TX Police 12/19/2024 134949 3/31/2025 Dahlia Blake

Net 30

Item	Description	Quantity	Price Each	Amount
EOS-S-1	EOS Intelligent Body Camera SaaS - The coverage period is 1/1/2025 through 12/31/2025 (12 mos.)	2	\$1,475.00	\$2,950.00
	*Laredo PO# 294061			
	/ Invoice# 23517 / SO# 11551			
	See Amendment Table Line H for devices covered			
ICV-S-1	ROCKET In-Car Video Saas - The coverage period	44	\$2,918.00	\$128,392.00
	is 1/1/2025 through 12/31/2025 (12 mos.)			
	*Laredo PO# 294581			
	/ Invoice# 23389 / SO# 11616			
	See Amendment Table Line I for devices covered			
EOS-S-1	EOS Intelligent Body Camera SaaS - The coverage period is 1/1/2025 through 12/31/2025 (12 mos.)	17	\$1,475.00	\$25,075.00
	*Laredo PO# 294581			

See Amendment Table Line J for devices covered

/ Invoice# 23389 / SO# 11616

Ship To

Laredo TX Police 4712 Maher Ave.

Laredo TX 78041

United States



Utility Associates Inc 250 East Ponce De Leon Avenue Suite 700 Decatur GA 30030 (800) 597-4707 www.utility.com

Bill To

yrodriguez@ci.laredo.tx.us 4712 Maher Ave Laredo TX 78041 United States

Quote

Customer Date Sales Quote# Expires Sales Rep PO# Terms Laredo TX Police 12/19/2024 134949 3/31/2025 Dahlia Blake

Net 30

Item	Description	Quantity	Price Each	Amount
EOS-S-1	EOS Intelligent Body Camera SaaS -The coverage period is 1/1/2025 through 12/31/2025 (12 mos.)	14	\$1,475.00	\$20,650.00
	*Laredo PO# 304027			
	/ Invoice# 29434 / SO# 13202			
	See Amendment Table Line K for devices covered			
ICV-S-1	ROCKET In-Car Video Saas - The coverage period is 1/1/2025 through 12/31/2025 (12 mos.)	16	\$2,918.00	\$46,688.00
	*Laredo PO# 309849			
	/ Invoice# 26378 / SO# 14490			
	See Amendment Table Line L for devices covered			
EOS-S-1	EOS Intelligent Body Camera SaaS - The coverage	25	\$1,475.00	\$36,875.00
	period is 1/1/2025 through 12/31/2025 (12 mos.)			
	*Laredo PO# 309849			
	/ Invoice# 26378 / SO# 14490			
	See Amendment Table Line M for devices covered			

Ship To

Laredo TX Police 4712 Maher Ave. Laredo TX 78041 United States



Utility Associates Inc 250 East Ponce De Leon Avenue Suite 700 Decatur GA 30030 (800) 597-4707

Bill To

www.utility.com

yrodriguez@ci.laredo.tx.us 4712 Maher Ave Laredo TX 78041 United States

Quote

Customer Date Sales Quote# Expires Sales Rep PO# Terms Laredo TX Police 12/19/2024 134949 3/31/2025 Dahlia Blake

Net 30

Ship To

Laredo TX Police 4712 Maher Ave. Laredo TX 78041 United States

Item	Description	Quantity	Price Each	Amount
ICV-S-1	ROCKET In-Car Video Saas - The coverage period is 1/1/2025 through 12/31/2025 (12 mos.)	2	\$2,918.00	\$5,836.00
	*Laredo PO# 322923 / Invoice# 28986 / SO# 17343			
	See Amendment Table Line N for devices covered			
EOS-S-1	EOS Intelligent Body Camera SaaS - The coverage period is 1/1/2025 through 12/31/2025 (12 mos.) *Laredo PO# 322923 / Invoice# 28986 / SO# 17343	2	\$1,475.00	\$2,950.00
	See Amendment Table Line O for devices covered			
ICV-S-1	ROCKET In-Car Video Saas - 1 Year: The coverage period is 1/1/2025 through 12/31/2025 (12 mos.)	42	\$2,918.00	\$122,556.00
	*Laredo PO# 326835			
	/ Invoice# 30436 / SO# 18121			
	See Amendment Table Line Q and R for devices covered			



Quote

Utility Associates Inc 250 East Ponce De Leon Avenue Suite 700 Decatur GA 30030 (800) 597-4707 www.utility.com

Bill To

yrodriguez@ci.laredo.tx.us 4712 Maher Ave Laredo TX 78041 United States Ship To

Laredo TX Police 4712 Maher Ave. Laredo TX 78041 United States Customer Date Sales Quote# Expires Sales Rep PO# Terms Laredo TX Police 12/19/2024 134949 3/31/2025 Dahlia Blake

Net 30

Item	Description	Quantity	Price Each	Amount
EOS-S-1	EOS Intelligent Body Camera SaaS - 1 Year: The coverage period is 1/1/2025 through 12/31/2025 (12 mos.)	42	\$1,475.00	\$61,950.00
	*Laredo PO# 326835 / Invoice# 30436 / SO# 18121			
ICV-S-1	ROCKET In-Car Video Saas - 1 Year: The coverage period is 1/1/2025 through 12/31/2025 (12 mos.)	2	\$2,918.00	\$5,836.00
	*Laredo PO# 33173 / Invoice# 31777 / SO# 19673			
EOS-S-1	EOS Intelligent Body Camera SaaS - 1 Year: The coverage period is 1/1/2025 through 12/31/2025 (12 mos.)	2	\$1,475.00	\$2,950.00
	*Laredo PO# 33173 / Invoice# 31777 / SO# 19673			
	See Amendment Table Line S for devices covered			
CAD-S-1	CAD Activation SaaS - The coverage period is 1/1/2025 through 12/31/2025 (12 mos.)	163	\$180.00	\$29,340.00



Utility Associates Inc 250 East Ponce De Leon Avenue Suite 700 Decatur GA 30030 (800) 597-4707 www.utility.com

Bill To

yrodriguez@ci.laredo.tx.us 4712 Maher Ave Laredo TX 78041 United States

Ship To

Laredo TX Police 4712 Maher Ave. Laredo TX 78041 United States

Quote

Customer Date Sales Quote# Expires Sales Rep PO# Terms Laredo TX Police 12/19/2024 134949 3/31/2025 Dahlia Blake

Net 30

Total

Item	Description	Quantity	Price Each	Amount
Signature Line	Signature:			
	Name:			
	Date:			
	PO:			
			Subtotal	\$673,476.00
			Discount	(\$42,261.00)
			Subtotal	\$631,215.00
			Sales Tax (%)	\$0.00

\$631,215.00